Corporate Finance
Midterm Examination Training. Set 2.
1. The riskless rate of interest is 0.06 per year, and the expected rate of return on the market portfolio is 0.15 per year.
a. According to the CAPM, what is the efficient way for an investor to achieve an expected rate of return of 10% per year?
b. If the standard deviation of the rate of return on the market portfolio is 0.20, what is the standard deviation on the above portfolio?
c. Plot the CML and locate the foregoing portfolio on the same graph.
d. Plot the SML and locate the foregoing portfolio on the same graph.
2. Suppose that you believe that the price of a share of IBM stock a year from today will be equal to the sum of the price of a share of General Motors stock plus the price of a share of Exxon-Mobil, and further you believe that the price of a share of IBM stock in one year will be $100 whereas the price of a share of General Motors today is $30. If the annualized yield on 91-day T-bills (the riskless rate you use) is 0.05, the expected yield on the market is 0.15, the variance of the market portfolio is 1, and the beta of IBM is 2, what price would you be willing to pay for one share of Exxon-Mobil stock today?

3. During the most recent 5-year period, the Pizzaro mutual fund earned an average annualized rate of return of 0.15 and had an annualized standard deviation of 0.30. The average risk-free rate was 0.05 per year. The average rate of return in the market index over that same period was 0.10 per year and the standard deviation was 0.20. How well did Pizzaro perform on a risk-adjusted basis? 
Hint. Adjust the risk to be equal to that of the market portfolio by building a portfolio of Pizzaro and the riskless asset with the same level of risk as the market portfolio.
